
3DPrintFreedom.com 
Bill of Materials 

 
 

PRODUCT:  WARDEN-308 Hardware Kit 
VERSION: 1.0 

☒   Hardware Kit  
 Part # Name Description Qty 
 Gun Parts 
☒ 

HW1 AR lower parts kit 
Trigger, hammer, disconnector, trigger spring, hammer spring, disconnector 
spring, selector, selector detent, selector detent spring, mag catch, mag 
catch spring, mag catch button 

1 

 Nuts/ Bolts 
☒ HW2 8-32 screw, ¼” long  2 
☒ HW3 8-32 screw, ½” long  2 
☒ HW4 8-32 screw, ¾” long  2 
☒ HW5 8-32 screw, 30mm long  1 
☒ HW6 8-32 nut  23 
☒ HW7 10-24 screw, 3.5” long  1 
☒ HW8 10-24 nut  1 
☒ HW9 10-24 keps nut  1 
☒ HW10 10-24 lock nut  1 
☒ HW11 10-24 set screw, ¼” long  1 
☒ HW12 1/4” nut, standard  4 
☒ HW13 ¼” nut, thin  1 
☒ HW14 AR grip bolt ¼-28 x 1” 1 
☒ HW15 AR grip bolt washer  1 
 Pins / Rods 
☒ HW16 8-32 threaded rod, 255mm long  1 
☒ HW17 8-32 threaded rod, 265mm long  1 
☒ HW18 8-32 threaded rod, 385mm long  1 
☒ HW19 8-32 threaded rod, 388mm long  1 
☒ HW20 8-32 threaded rod, 458mm long  1 
☒ HW21 8-32 threaded rod, 479mm long  1 
☒ HW22 ¼” pin, 1 1/8” long  2 
☒ HW23 ¼” threaded rod, 360mm long  1 
☒ HW24 5/16” slotted steel roll pin, 1 ½” long  1 
 Other 
☒ HW25 Pump safety spring 10mm OD x 0.8mm WD x 8mm long 1 
☒ HW26 8-32 heatset  2 

 

☐   Barrel Kit  
 Part # Name Description Qty 
☐ BA1 AR10 Barrel, 20” long  1 
☐ BA2 AR10 gas block  1 

 

☐   Bolt Kit  
 Part # Name Description Qty 
☐ BO1 AR10 Bolt Head  1 
☐ BO2 AR10 Firing Pin  1 
☐ BO3 AR10 Bolt Cam Pin  1 

 
☐  AR10 Magazine  

Important Notes: 

• Some parts may require cutting to final length, fitting to your particular build, or other postprocessing 
• Some part sizes may vary from nominal. In all cases, we have verified this variation to be acceptable for this particular part and build. 

 
Pack Date: _____________________      Packed By: ____________________________________ 

 
Thank you for your business! 


